DUNCAN MODELS DA 820-2,-4

NO.

21,
22
raY
2¢4.
28.

27.
28

REF. PART

NO. DESCRIPTION

KM 2N1 TIMER

KM 324 POWER RELAY (240/208V)
KE314 #8=32X1/2" MACHINE SCREW
KE322 #6 STAR WASHER

KE333 #6-32 HEX NUT

KM383 4° FIBERCLASS SLEEVING
KM342 820, CORD STRAIN RELIEF
KEI07 $8-32X1=1/4" MACHINE SCREW
KE329 #8-32 HEX NUT W/WASHER

KEO96 2 POLE TERMINAL STRIP - @ .y

KC309 STANDARD BUSS BAR ASSY.

KC319 U=-TERMINAL ASSY.

KE332 f10=32 HEX NUT

KEOS0O INSULATOR .

KE321 0 STAR WASHER

KMO67 TIMER MOTOR (80 HZ)

KE317 #10—32X3/8" MACHINE SCREW

KE322 POWER CORD 30 AMP

KM300 INFINITE SWITCH W/PAL NUT
(240/229V)

KM3C1 INFINITE SWTCH W/PAL NUT
{208v)

KC189 107 CONNECTING WIRE, 16 GAUGE

KC187 6" CONNECTING WRE, 18 GAUGE

KCI181 12,9 COMBO WRE, 16 GAUGE

KC177 &° CONNECTING WMIRE 12 GAUGE

KC179 16°CONNECTING WERE, 12 GAUGE

KCi183 EA PILOT UCHT

KC139 9" CONNECTING WRE, 12 GAUGE

KC361 3 POSIMON SWMTCH ]

CONTROL PANEL PARTS

7~ \

A

QA2 AN
XL Y

©

19

N\
-
"Ot'oo
+I

ELECTRICAL SCHEMATIC

SO R3




